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Note: (a) All questions are compulsory.
(b) The candidate is allowed to make Suitable numeric assumptions w]zefévq}’ -xéq;ﬁ'red

for solving problems

Q.No Question o TCO Marks

Q1 B Coz |1
Consider the problem of reversing a singly linked list. To take an example
given the Jinked list below, "

head > a =1 1y > C > > 1
the reversed linked list should look like
I bk —a:f o 3| > ¢ --i"—-’- b *1 & J_.A

Wiatwill be the time complexity of algorithins that solve the above problem
in Qi) space?

Q2 Write a program to insert-an t,lc,ment 1n an array at the end if Array is Full. o1 [S_-HJ—
Also mention the time complexity.

Q3 CO3 [ [2+7]
Convert the infix expression into postfix and then evaluate the postfix
expression. (3 +6) * (2 - 4) + 7°2-4,

04 Write a program to.insert the element at the end of a circular singly linked list | CO2 [2+1]
and also mcntlon the time complexny

Qs S 1 COT | [2+1]
Find the time and space complexity of the given program
void multiplyMatrices(int firsf MAX][MAX], int second]MAX][MAX], int |

resultf MAXT[MAX], int rowl, int coll, int row2, int col2) {

for (int i = 0; 1 <rowl; i++) {
for (int j=0; j < col2; j++) {
result[i}[j] = 0;
for (int k= 0; k < coll; k++) {
resulifi][j] += first{iJ k] * second[k][ji;
oo on
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